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CHMI152 Quiz2b  25Pts Fall2016 Name: KW
***SHOW ALL WORK TO RECEIVE CREDIT***

1. (4 Pts) Calculate K for the reaction 2HI(g) = Ha(g) + Ix(g) given that the concentrations of each .
species at equilibrium are as follows: [HI] = 0.85 mol/L, [I»] = 0.60 mol/L, [Hz] = 0.27 mol/L.
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2. (4Pts) The brown gas NO; and the colorless gas N2Oj exist in equilibrium, 2NO; =5 N204. In an
experiment, 0.625 mole of N2O4 was introduced into a 5.00 L vessel and was allowed to decompose
until equilibrium was reached. The concentration of N2Oj4 at equilibrium was 0.0750 M. Calculate

K. for the reactiomn.
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33 Py Thesolubilityof-silverchloride-carnrbe increased by dissol ving-it ina solution containing
ammonia. '
a  ALlE = A (aq) + Cl'(a9) Ki=1.6x10"
@ W(D +2NHsz (aq) == AgNHs):*(aq)  Ko=1.5x107

What is the value of the equilibrium constant for the overall reaction?
O AgCl (s) + 2NHs (aq) = Ag(NHa)"(aq) + Cl'(aq) Kne=?
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4. (3 Pts) Write correct equilibrium constant expression for the following reaction?
Fe203(s) +3Ha(g) = 2Fe @ +3H20 (g)
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5. (4 Pts) At 700 K, the reaction 2802(g) + O2(g) = 2S03(g) has the equilibrium constant K¢ = 4.3 x ]
, and the following concentrations are present: [SOz] =0.10 M [SO3] =10. M; [O2] = 0 10 M.
Which of the following is true based on the above?

A) Qc> K, the reaction proceeds from left to right to reach equilibrium
B) Qc> K., the reaction proceeds from right to left to reach equilibrium
@ Qc <K, the reaction proceeds from left to right to reach equilibrium
Qc <K, the reaction proceeds from right to left to reach equ111br1um

E) Q¢=K., the reaction is currently at equ1hbr1um
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6. (3 Pts) The equilibrium constant for the reaction Ni(s) + 4CO(g) == Ni(CO)«(g) is 5.0 x 10* at 25°C.
What is the equilibrium constant for the reaction Ni(CO)s(g) = Ni(s) + 4CO(g)?
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7. (4 Pts) The reaction A(g) +2B(g) = C(g) was allowed to come to equilibrium. The initial amounts
of reactants placed into a 5.00 L vessel were 1.0 mol A and 1.8 mol B. "After the reaction reached
equilibrium, 1.0 mol of B was found. Calculate K. for this reaction.

AO +9“B@) <’C’)€S [9}7

oo 6 edle
I ],0 [ K -

E~x X X ) [:ooj[siooj

G X .
E |.0~X I § ALX
@ E a2k =i .7 & /Z
Q__Xf: OIS/ - -
X= 0,4
Ial) LB ’ C(4)
So 0+ |.0 0.




